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8.

1. 2
Barl; Inscry

Ashok
(A)

\ ;_}lmn. Which is believed to be pre —
‘ 4 periog i found in —
& Tonk districy
) Bhilwarg district
©) Ajmer district
(D) Alwar district

T Rienorg, ot fr sl BT A g
AT ST 8, W gen & —
(R) 2 frar 3
(B) Wrerarer R o
(C) arame forar &
(D) araaqr forar o
2. On which river bank was the Gilund

Civilization spread?
(A) Mahi |i.:

(B) Saraswati
(C) Bedach
(D) Banas

freprs e fre 7 @ IR Bell gd o
(A) =TEY
(B) a¥at
(C) 3s7
(D) 9919
Where in Rajasthan the Cantonment Board
has been established?
(A) Jaisalmer
(B) Neemuch
(C) Nasirabad
(D) Jodhpur

arorvers 4 o) AR @ e TE AT
a7

(A) SrgeTiR

(B) 4w

(C) HIN4TE -

(D) g

e e ——————iabali .._.__—4.--————"_'____--

—

4. Which one of the lollowing temples does no
belong 10 the Gurjar- Pratihar architectura)
style? 3
(A) Someshwar temple of Kiradu
(B) Sun temple of Osjan
(€) Dadhimati Mata temple of Goth Manglod
(D) Shiva temple oI Charchoma

Frafafea & 4 sF—a sy ToR-uer
are] et w1 A&l 2?

(A) fovrg, w1 WvaR Higw

(B) st v w3 wfRw -

(C) 7ire wAiTeE @ s A HiER

(D) aR=Ew o1 fIrg wReR

~ ldentify the Chief Ministers of Rajasthan, who

have also served as Governor —
(i) Mohanlal Sukhadia

(ii) Hira Lal Devpura

(i11) Shiv Charan Mathur

(1v) Jagannath Pahadia
Choose the correct code -

(A) (1), (iii) and (iv)

(B} (1), (i) and (iv)

(C) (i), (11), (ii1) and (iv)

(D) (i), (i) and (in)

TR & JEr B At #ifi, e
IS & w9 H 9w fem -

(i) Are=Tetal gatsuy

(it) BRI Tl CAYNT

(iii) fRra =vop wRR

(iv) ST eI

e HE BT YA B -

(A) (ii), (iii) 3R (iv)

(B) (1), (iit) 3R (iv)r

(C) (i), (i), (i) 3R (V) >

(D) (i), (i) 3R i) -

s
e

—

ne~a T nl ?‘
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tract of .. includes -

= ajasthan 1 ip
L 'dgaur rchum — Stkl-u- i
Ngarh _ g Gangandg

(B) _ : — TR
fclm;mﬁm,
©) T — Srrehg o g

8. _Whlch one of the fo[jma;ring (Spils- Qi)
IS not correctly Matched?
(A) Red and Yellow - Jh-alawaf and Kota
(B) Red Loamy - Dungarpur, Udaipur
(C) Brown Sandy Alluyial - Bharatpur, Alwar
(D) Medium Black - Byndi, Baran

fg‘r@%ﬁ 4 9§ By () - foren) gafera
(A) et S Greht — grraars, T
(B) &rer & — GIRGR, IEAR o
(C) ¥t Xeiiefl FBN — wRaR, AT~
(D) ey wrefl — g1 qwi .~

8. Dev Vimans made of wood whose tableau is
taken out on the occasion of Dev Jhulni

Ekadashi are called -

10. Maich List — I with List -

1 and select the

correct answer using code given below -
List -
(Wildlife Conservation Area)
. Sundha Mata
Guda Vishnoiyan
. Gogelav
. Beed
List — 11
(District)
a. Jhunjhunu
b. Nagaur
c. Jodhpur
d. Jalore - Sirchi
Code -
(A) 1-(a), 2-(b), 3-(c), 4-(d)
(B) 1-(d), 2-(c), 3-(a), 4-(b)
() 1-(a), 2-(b), 3-(d). 4-(c)
(©) 1-(d), 2-(c), 3-(b), 4-(a)
%ﬂ‘lﬁ@—llﬁ'gﬁ%ﬁﬁmw
fad T @ F TET TN GE SR D

9g- PAT —

. |
%ﬂ?ﬁﬁﬁﬂ’}
HTa
Wfﬁ?-‘ﬂéﬂﬁ

1.
2
3
4.

.

II

b o
Bl

C.
d. iR — &
aiE-..

(A) 1-(a), 2-(b), 3-(c), 4-(d)
(B) 1-(d), 2-(c), 3-(a), 4-(b)
(C) 1-(a), 2-(b), 3-(d), 4-(c)
(D) 1-(d), 2-(c), 3-(b), 4-(a) -
1. When is ‘World Tourism Day" celebrated’

(A) Bajot
(B) Choupde (A) 25 December
(C) Bewan () 10 January E
(D) Khande (C) 27 September
qod @ @ 27 fE R da gerh RNy
vaTedt o) i Aaie T ¥ see & - fava wied faw o Fmn S {2
(A) wrore (A) 25 feamaR
(D) 8 g

i

- I~
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= 11 utled as

(D) SEhhe q.
3. Where is the “Rajputana
established in 1908 AD?
(R) Udaipur
(B) Jaipur
(C) Chittorgarh

iz
(D) Ajmer

Museum”

1908 €. & e “wregarn RIFFEH Bl
.14

: () gy -
{,f (B) sagv

(©) Rrdtsra
(D) 3roTe
14. Which of the following pair is not correctly
matched?
(A) Karauli Prajamandal — Trilok Chand
Mathur
(B) Jhalawar Prajamandal — Mangilal Bhavya
(C) Mewar Prajamandal — Balwant Singh
Mehta
(D) Bikaner Prajamandal — Pandit Hari
Narayan Sharma

frafafga & & T@d W & ysdH
A —

(A) 3R smise — Bres 8RR

(B) HIITAT8 yumisd — AN W

(C) Ha1g YuIHEe — qeidd g HEdl

©) §iar yowse — ufeq &R Ao wEt

) %
8. Who was the A.G.G
of revolt of 18577
(A) George Patrick Lawrence
(B} Sadler Cottom
(€) Col. Homes
(D) Mr. Burton

o Rais
Rajasthan a1 the time

1857 @ g & ¥ e @1 AGG.
Cap it it
(A) it fre SR
(B) ek HICH
(C) ®Hd 81
(D) foreer @2
16. Dayaram Sahani. Neelratan Banerjee and
Kailashnath Dixit played a major role in the
excavation of which ¢ivilization?
{A) Gilund
(B} Bagore
{C) Aahar
(D) Bairath

TARE AN, RS gl vd S
e B T B S A e e
& .
(A) fires
(B) IR
(C) arrze -
(D) 313
17. Avika Kavach Yojana is related to which
animal?
(A) Cow
(B) Sheep
(C) Goat
(D) Horse

e B e B weY R Ty [ ¥
(A) T

(B) s

(©) a5

(D) et

4o
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»f Rajasthan

e f " 5
t‘\\\"ilnwms luke of a large

|I for the death

»
the year 20197

T 2019
Ny S - 1 e,

LE L B e il

g el ﬁq'ﬁmm:ﬂﬂaﬁmﬁi

(A) 7wy
(B) :
o Eﬁ?«‘ﬁiaa

Wwing is a farmer movement
related to Bhil tribe? }

(A) Mewar Pukar
(B) Neemuchana
(C) Zakat
(D) Bhagat

P & % s pve s W
TG | Ay 87
(A) #3135 goR

(B) =frsgron
(C) ST
(D) rer
21. How many districts in Rajasthan were
affected by drought in the year 2002 - 2003?
(4) 30
(B) 32
() 31
(D) 33

) —
BT i SR

2002 - 2003 # YT # B e g
# gwriaa 947

{A) ()

(B) 32 ~

(© 3

(D) 33

ar, e
" In Desen Development Programme th

funding ratio between centre and statc with
effcct from 1" April, 1999 was -

(A) 60 - 40

(B) 50 : 50

€) 30: 70

(D) 7525

HE e wEd 4 1 A0 1999 § @ AR
g & §ra fAxia g &1 A9 o —
(A) 60 : 40

(B) 50: 50

() 30:70

D)75:25 -

2° Which of the following Constitutional

officials of Rajasthan are appointed by the
Governor, but cannot be removed from their
office by the Governor?

(i)  Advocate General

(ii) State Election Commission

(i) Members of Rajasthan Public Service
Commission

Choose the correct option -

(A) Only (i) and (iii)

(B} Only (i) and (i) &
(C) Only (ii) and (iii)

(D) (i), (ii) and (ii)

e & Frafafaa § ¥ B | s

W@Wﬁ?ﬁwmﬁ%mme
AT IR IS R S ue | A
BT ST Hepell & —

(i) wERaE

(i) v Fratem smge

(iii) TAH NE Har JEAT D waw
el fiee &1 91w g —

(A) B3 (i) 3R (i)

(B) #ad (i) 3R (ii)

(C) @ad (i) MR (jii)
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i
28 Which of (he :

following s . :
matched rcga"din;':j;;;?f 15 not correctly Torens & qdr—n:;h PR RiEE
{A) SUTSLII‘H-C(:]'QEIBI—), site (PMKSY) &1 ﬁ 'Td’ I a_; qra fire T 4
(B) Kharnal_Binhpluce ' A 2 -8 F
© Paner-Nanihaj (A) 50 : 50
(D) Parbatsar - Fair place J (B) 60 : 40
Q ®@25:715
FoTeh TR feifafa 8 ¥ s OV (D) 40 : 60
I GRform T 27 &y 2 Who was the fsmous as poet and painter
(A) AR~ |y e <t Nagari Das?
(B) TR — ey EO LG (A) Raja Vrandavandas
©) T% — Ffyary . (B) Raja Sawant Singh
(D) yvgegw — (C) Rana Kumbha
25, . ; ﬁﬁ 1w g (D) Raja Krishandeo
In which district of Rajasthan does the Sun | <) : ;
-’ shines vertically on 21% June? o B 1d REeR e & w4 | P ufeg |
(A) Ganganagar — oIr? f
(B) Ajmer <t (A) & greTaAG 1
(€) Jodhpur N (B) ror7 wrag e - '
(D} Banswara (C) 7o @
TSI : (D) 1T FT <F
21 ¥ ?)?{d i e [ f,__\}‘ 29. Which of the following river does not belong
. ~ to the Inland Drainage system of Rajasthan?
(A) T (] (A) Kakni
(B) 3roTv s (B) Dai
(C) SR - <t (C) Medha
(D) wrarst ¥ (D) Kantki
26. What was the Capital of Chauhan ml ' _
Sahasmal? ? G\ Frafofad & % Po-@ 8 owm &
(A) Shivganj ’ :;:g ITART IJUATE T | o 81 27
(B) Achalgarh B NG e
(C) Sirohi ﬁ (B) T1g _
(D) Chandrawati ,:_‘;? (©) %1
AeH aY B FUE Fewr P ojowE (<0 (O @
g7 2ff? 3 30. Which pair (Dam - District) is not correctly
(A) RraTa matched?
8 3 (A) Panchana — Karauli
i (B) Jawai — Jalore
(C) fardt (C) Chakan - Bundi
(D) T=Tach (D) Meja — Bhilwara
27. The Funding Ratio between the center and
T s o v &1 — R i 2
state of Pradhan Mantri Krishi Sinchai Yojana g™ (@ ) W e &
(PMKSY) in Rajasthan is - (A) gig=T — el
(A) 50 : 50 (B) 5§ — WIdR -
:3?2;2 - (©) = — g
) 40 . 60 0 Al 41:31 —

id@ : a2 oaf D4
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. o

S —

« Chief Min:
} 31. :;half-g_‘:::r:lzt:‘t‘::r Whey had to resign because
1 (A} Jagannath p;u’u Meinarks on @ poELess = T&rm F an § BT Do Ty
(B) Hanidev Jogp “ig ) s7a1 S g aiE@m frean el b
(€) Mohan L3 ¢ : ®) S0 3R Ry e N §
(D) Shiv Ch e Sukhyg; () Ty =, N TEE Sy @ e 2
ean Mut}.uf (D) 32y :;E MM o020 Fr a2 ’
qiA s B AT 3,42 329 gt [y N
RO B ren et w AR f\‘ : {,m‘;:‘[;‘:": ‘;ffiaaimm-.m did Sahangir and Siy
(A) TRy quF‘:::mﬂ 247 98T — ::;: (A) M"""d‘ﬂgar}:ﬂ tor the first time in 16167
(C) it ey —t }:I‘g"ﬂhlr\men
(D) Pragoy mE bl | way
32. The famous ey " {
Marwar s:;ngelziuﬁa festival (ghudla dance) of mﬁﬂﬁm&hmw ST A A H1 1616 4 wem
ruler of Jodhpuyro Uring the region of which ¢\ ofp? I & 5y vy 4 B
(A) Rao Sata] & (A) Wrgenre
(B) Rao Maidev oy (8) '
" HBER BT fvar (o
(SJ Rao Jodha pay © 8 (arTR) -
(D) Rao Ranmal 5: (D) :
RIS B g g SN
W :’I\‘-ng 5 e (TS ) P ‘rigel?:! irf{}:\lang hra wom by the women of Bhil
> 59 wras & Bt gEP (A) K as'
. (A) 19 H1aa - o4 (B) Koohab ;
g ac u L
(B) 319 HToIRq 03 (C) Katki E
(C) <1 wiren b © Jama
(D) R1a XvTHE < .

i 33. Which Princely State first ;i ed Instrument f_j_ E ETERT ¥ 4] S T,
of Accession? P % LR A= B R 1
(A) Bikaner - 3
(B) Kota o\ W
(C) Mewar & (6) Forg
(D) Jodhpur oy (C) e,

b (D) ST
frg 29 Rarad 3 Re@ t9 ® FA9IH T 37, Racadi is sub-di -
N o - Ragadi is sub-dialect of which dialect?

EIRR BT (A) Mewati

(A) fFHR -~ . (B) Malvi

(B) PreT (C) Marwari

(©) 2 (D) Hadaoti

(D) SergR ol e vl Y Su—arh ¥

34. Which statement about Rajasthan is correct? (A) Harch

(A) Its North to South extension in 869 km (B) Al
(B) [t has rhombus shape () qRarS)
(C) Its land boundary 11 6920 km (D) grSKeh =

(D) Its area in 3,42,329 ) 5 km
114 (@ page 7 of 24


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

- -

(A) 1519-20 ¢

(B) 154142 ¢

(©) 154445 £

D) 143637 ¢

Which among  the following is not a
chordophonic folk music instrument?

(A} Rawaj

(B) Ravanhatha

(C) Bhapang

(D) Madal

frefafaa 3§ ¥ Piar aq e a@ a= I8
87
(A) Taror

(B) vrqurscery ﬁ

(C) wgir
(D) 715"

40. Under whose Chairmanship a huge
convention of Meena Caste was held in April
1944 at Neemkathana?

(A) Hiralal Shastri ",
(B) Shantisagar Ji Maharaj 4
(C) Shobhalal Gupta
(D) Magansagar Ji Maharaj

frwa sraerar § Aoy @iy &1 v fema
R ¥ 1944 F AHaprarr d A
garm a1’

(A) gRTelTd et

(B) #rifrdmR WY HERTA

(C) erIetTel [T

(D) AHHIR A HERTA

41,

|3
Current rating is 8ot ecessary in case of
(A) tsolators i
(B) Circuit breakers :
{C) Load break sWilches i
(D) Both (B) & (O A

forer @ For0 SIRT ¥ Sy gy 20 ;
(A) srrgEIEY ~ )
(B) qRue fo® (e o) |
(©) wrs @ a9

©) (B) 3 (C)

42. which of the following falls under the

category of the fusion or mon-pressure
welding?

(A) Resistance welding

(B) Ultrasonic welding

(C) Metal Arc welding

(D) Explosive welding

freafifed ¥ ® $R-wr wEm o R 6w
Afedy A AN A aman {2

(A) g AfeET

(B) arcgTaife afeem

(C) errgamy AfeET-

(D) fawmres afcen

437 Transmitted power remaining the same, if

supply voltage of a D.C. 2-wire feeder is
increased 100%, saving in copper is -

(A) 50% ¢
B 100%
©25%
©) 75% |

)

e i e e R AR 2awR S

BT B wgf et 100% T S B, A
R ¥ aad e 2 -

(A) 50%

(B) 100%

(€) 25%

(D) 75%

———— e - e —————————S
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46.

4 of the r'nlfuwgng automatic Wt’:iding
os is Nkely to Bive maximum rate of
-al deposition?

;;; Gas shiclded bare wip .

B) Single wWire submcrgt,d arc
(©) aultiple power Submerged arc
(D) Continuous flux covered electrode

# A BT wpeprfire AeET Ul
grq @ T Bl AWy gz 23 A AT

(&) A IR T
(B) Yel AR TTAHT g
() v1® wifam
(D) RO W4T $Hav g3
45. The fo!-m factor of Sinuspidal alternating
current 1s -
(A Q
(B) 1.11~
(C) 1
(D) 1.15

=19

ﬁ?ﬁmﬁwmmmmm

=14

(Ao

(B) 1.11

© 1

D) 1.15

If 8m is mechanical degree, @, is electri

degree and P be the number of poles on D.C.

generator, then which of the followin
equation is valid?

(A) 6, = 26. P

(B) 6 =26, /P-

(C) .= 26n P

(D) @ = 26m /P .

qﬁen]ﬁzﬁﬁﬁ{ﬁ;ﬁg 0. Setfasa f¥A
(A) 9,, = 20. P
(B)9m=28cm
(c)9¢=29mP

C

g

€
ar

47,

at
A TeSistance measures 4€2 at 40°C and 6

0° 2y T = 0°C the resistance will measure -
() 30

(B 150

) 20

(D) a0

P :?3 Q half ~watt resistor and 3302 half-watt
SiStor are conpeted across a 12V source.
(©) Both resistors -~

hich One(s) will overheat?
33
Neither resistor

U5 33 Q smqr—are e aren R 330Q
M- A= aren wE 12V S @ ST
8 8| @ w1 sarer TRy @nr?
(A) 330
(B) 3300 .
(©) S} TR
D) B yherws =2
49.° A coil of self-inductance L is connected in
series with a bulb B and an AC source.
Brightness of the bulb decreases, when -
(A) An iron rod is inserted in the coil.,
(B) Frequency of the AC source is decreased.
(C) A capacitance of reactance Xc¢ = X, is
included in the same circuit. »
(D) Number of turns in the coil is reduced

w@-ie@ L 1 Beell UF 99 B 3l v
AC Ei B T AT F G R | qew o)
v 9 & o & AR~

o id B IR 9 B oy )

B) AC
(cigfﬁma Xe= XL B U aifeen T
¢ Wﬁjﬁﬁﬂﬁ@ﬁ?l

ﬁ?ﬂﬁmﬁﬁwms’lwﬁ%;

o) —_—
(D) g, = 0 /P /__—/’/

Page 9 of 24
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5

50.'
What i he

Multiplicay;
determingic, tplication factor used for the

. ; M at may; 5
Capacity of aximum current carrying
Aygg " ITkViine?

. Proper selection of welding depends upon_ iy,
addition to cost involved -
(A) Kinds of metals to be joined
(B) Nature of products to be fabricated
(C) Production technique used
{D) All of the above -

afesT @1 IR 997 39 919 W Rk gy
2 & gud wfe arE & samEr -
(R) onfda 81 & foy argsll & uoR
(B) T WA aret SeR) ) WP
(C) ITuTgT ad-il P R fhar
(D) Iudaa W
52. Which of the following will vary the
maximum torque in a motor?
(A) Rotor Reactance (X)
(B) Rotor Resistance (R)
(C) Both (A) & (B)
(D) None of the above

fAfofaa & ¥ #1 9er § afdeaw 2@
® gGoTT?

(A) Yrex wfafbar (X) (R@ew) ~

(B) Qe gfawr (R)

(C) (A) 3R (B) gl

(D) ®1¢ 8

53. When maximum starting torque is obtained in

an induction motor, than rotor power will be -
(A) 0.5 Lagging

(B) 0.707 Lagging

(C) Unity (1)

(D) Zero (0)

T IRV HIEX H T sifireme AN g,
(ETF) wral B A1 R, Ay Wrex B vfw
........... . B 2 :
(A) 0.5 AAfir

(B) 0.707 =ffim ~

(€) w5 (1)

©) 37 (0)

4. In lap winding the no. of Brushes is equal is .

(A) 2 x no. of poles
(B) 2

{C) 4

(D) no. of poles

oY aRfET ¥ gu ) wen awEs w8
(A) 2 x g1 9w
8) 2
(C) 4
(D) vy =) FHe -
95 The phase difference between the primary and

secondary voltage of transformer is -
(A} p°

(B} 270°
(C}op
(D) 1300~
FEEER A g few e fRdes
IS B & v R 2y & —
(&) oo
(B) 270°
(C) 90°
(D) 180°
56. If the measured insulation value is more than

unity, what value should be taken as the
maximum working value?

(A 19

(B) 1 MQ
(€) 0.75 MQ
(D) 0.5 MQ

(€) 0.75 MQ
(D) 0.5 MQ

14 @

Dana 10t 24
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114 ©

_—

¥ T ' LU B
57. The given equivalent cireyjy belo?”
L@

—HT—

o——;wm——'—m—-"nfy’a
Ry Rg '

(A) PIN diode

(B) Zener diode
(C) Varactor diode
(D) Tunnel diode

G
—H
o A— A I
R, Ry e

(A) PIN ST

(B) 59= sTUIE

(C) R SIS -

(D) g1 SIS

58. Two coils having self-inductance of L1 and L2,
respectively, are magnetically coupled. The
maximum  possible value of mutual
inductance between the coils is -

(AL, = L,
® JL <L,
C© L xLa
(D) Ly + L2

o Ly ofiY L, |IRp a9 @ gesH

g w9 gea & @ gusel & d
Re Recd & AfMHTH g 7H

2?

(A L;+ La

B) /L, XL,

(C) L, xL;

D)L +L:~

TTTT——

In the cireuiy shown in the figure. fing
. fin

current flowing through e
piy

the %0 Tesistance -

AR e 10
\ A
s 18] 427
(A) 050 A
(B) 025 A
€ o10A
© 075

ﬁaﬁﬂ?ﬁ‘mwﬁu‘uﬁ, RO ufeRer 9 wanfa
%ﬁﬂl‘oﬁwaﬁaﬁﬁ‘ﬂ~

20 40

5v

(A) 0.50 A
(B} 0.25 A
©0.10A
) 075 A

- For a transformer of the full load, cooper
losses are A and iron losses are B, then the
load at which these two losses would be equal
is given by - )

(A) Full load x ,/A/B

(B) gull load x JB/A ﬁ
(C) Full load x A/B

(D) Full load x B/A

af Pl SREETR 5 e AE W ol A
JIR arre @t B 2, A e &g @ A <

g aER g
{M@Eﬂgxm
(B)qgaa\@*m,
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61.  The value of current in the circuit i
i 001 = 64. What is overall ..
s gai £ b
ALL T clarlingwu pair” n of the givep belyy, 4
I -]
&
LN
—
(A) 5 A - — e
(B) 10 At '
(C) 20 t :
(D) 15 A
Y R T aRyy & -
i HRT S § - (A) 100
(B} 3000
u (C) 20000 -
[—I‘ ¥ (D) 300
Hre & 78 Sifelres WLy & WY @™ Fw
(A) 5 AT 27
(8) 10 A '
C20A
(D) 15

62. When B2 the flux density, then eddy current
loss varked as -

(A) B? 5
(B} Bl.l')
©B E—
(D) B*
e B udad SfEel B A TS awe o A
& g — i
(A) B2 , . (B} 3000
bl ﬁ () 20000
(D) B3 65. When Si NPN transistor in inactive the base-
63. In tergry s’ is slip, then the ratio to-emitter voltage is equal to -
Rotor Cqpger loss (A) 0.6-
Rumri@)_ﬁtpu[ - (8) 0.4
A) (-8 () 1.4
(B) (s -9 (D) 0.88
(C) (/] v=s) ~
D i
af ¢ R & Al ——— = F—e—ufies AT TR B R -
o, ey eyl
(A) 0.6
iy (©) 14
(©) (/1 - 5) o
(D) (1/1 - 5) 3 _(_)9;38 e —_—

f1¢-! ® Page 12 of 24
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e ™
it #fZ
g6, What should e the spacip, porween the two 9 foy o gearEd qﬁ'ﬁﬂﬁg@ F1 7 !
conductors if the Working yojage is 11kV? frag &1 9 120V g =
(A) 76 mm BT
(8) 190 mm 1k
(€) 101 mm
2 V =1504/2 sin 500t L
(A) 76 mm ' ~ WisH
(B) 190 mm N ®osy
(C) 101 mm o (©)osH
(D) 250 mm T ®1on D
67. Which of the following yyeomatic welding 9. Find ‘i’ by Maxwell loop (mesh) At
processes :s_ !lkely 10 give maximum rate of B o : 5V
metal deposition? i
(A) Mult?plc power submerged arc %
(B) Continuous flux covereq glectrode N
(C) Gas Shielded bare wires e -
(D) Single wire submerged arc E::?_ e, 2
o.h
frafafaa ¥ 9 SH— wafaa afesT 4
gffpa eng & G B oifeay a¥ 29 B (A) 0.2758
GiiiCis 44 =
' g (B) 0.3758 Eﬁ
42 R - N (C}0.1758
(B) fANaR warg ®eR goidgis o 5 '
(C) | ufxférd = ar i LARE L
(D) ¢l TR TAT A - ) Y _ o=
68. For the AC circuit as shown below, if the rms ¢ Bl " -
voltage across resistor is 120V. What the sa i 5y
value of the inductor? ol '
&
o~ 20 10
1kQ 8
-
10v(* 40 aqQ
v:!ﬁﬂﬁsinmﬂl L S
-« —
(A) 0.2758
4 3758
(A) 1.5H 201 b (B) 0.3 )
(8) 0.6H (€017
(D) 0.1587

(C) 0.5H
(D) 1.0H
— Page 13 of 24
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70. When the number of turns PeT unit length of
solenoid  is  doubled its self-indyey .
becomes - e
(A) 4 times
(B) 8 times
(©) doubled

(D) same

(D) RLiGs

. Whi.ch kind of impurity atomn s added to
semiconductor to make it P-Type?
(A) Pentavalent

(B) Trivalent
(C) Tetravalent
(D) None

ey @t orgfe Ty I awferers
m@m%,aﬁp-wwamﬁa%m?

(A) derdere

(B) grsde - E
(C) 2grie
(D) w15 7 :
727 The self inductance of a coil can be changed
by -

(A) changing electric current in the coil

(B) changing number of turns per unit length
of coil

(C) changing temperature of the coil

(D) All of the above

Roelt gvech &1 wRee o g
oo I wpar

W) Zueeh ¥ faer urr a2 v

®) Zscht & wfr gard warE A amad @

73>

74,

If two identical 3A. 4.0 Norton's EqUivaley,,
circuits are €ONNected in parallel vy, |
polarity. The combined Norton's equivay),,
circuit will be - 1
(A) 6A, 2Q2

(B) oA, 202

(C) 6A, 8Q

(D) 3A, 80Q

T < WHE 3A, 4 0 AT AHeE why
Ty Afed Tues gf¥te S —

(A) 6A, 2Q 7

(B) 0A, 2Q

(C) 6A, 802

(D) 34, 802

Find the cument through each element and
potential difference across 15Q resistor —

50 100

£l 100 15Q

(A) 30.7
(B) 25.7
(C) 40.5
(D) 28.5/

u?e)ma?q'%maq%aﬁmmlsnuﬁrm
4 H9IRE IR s o —

50 100

100v 10Q 150

(A) 30.7
(B) 25.7
(C) 40.5
(D) 28.5
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L3 T
;:} ! m :"h:;:.::n?:c _ez_“pil'lt:;;] f [‘-'r
| the n_aultm of Ormgla employed c

case of alumimum o -‘q&.]”g of conductors in
A \/3-4-\’/150 ndt'tl-.'hr'.’
(8 VS+Vv/100
(©) VS+120,y
® VS+v/1ky

‘ R & Prafeor o o Ty & weaedl A
i I3 = @2 Y Froporey s
'FI A V5+v/150

{(B) J§+V/100

(©) VS+120,v

(0 \K§+V/1kv
76. The materig
'J hgh mege] ‘f;)t:-;g: isn]‘ Y Used for insulation in
(A) Lead
(BJ Papcr
(C) Rubber .
(D) None of the above

- —
——— )

77. Load factor is define is —
(A) Maxium Load

Minimum Load
(B) Average Load

Peak Load
(C) Peak Load

Average Load
(D) Peak Load

Rated Load
(IR HR®) Tre BaeX & -
(A) waffoe s

=ATH A
(B) sirad 18

(C) q& s

aftaa A3
(D) @& A8

e ——

T

144 /a\

T8, What is the input cun‘cﬂt efﬁcien‘:y
phase motor, 240V at 70%
p.r?
(R) 1352
(B) 10.95 A
(©) 6.95 A
(D) 17.68 A . 70%

fh FIC,
&A1 W 240y 3w 0.8 L
() 135 4
(B) 1095 4
(©) 6,95 A
- LC ransistor oscillatols

component uged is —

(& Capacitor

the active

(B) Resistor
© Transistor
(D) Inductor

LC g 2rere ¥ ygaw wipa @c® T
&

(A) iy

(B) uferwr

(©) zifreex

(D) i

80:  What is the formula to calculate the numbers

of poles required in LT line distribution?

(A) Span / Length + 1

(B) Length / Span + 10

(C) Length / Span + 1

(D) Span / Length + 10

et (LT) T PR & sirwrn gy o
@ B T PR B HR awq &7

(A) arafy /AT + 1

(B) wars /@™ + 10

(C) ard / 3aR + |

(D) arafdy / FE + 10

f\
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B1. The .
pPower factor of a g : .
expected to be about POt welding machine is zer A2 ol TE arpf fren e A oo
(R) unity wrEn ¥ T AR A G B as T wed &
|1 (Va-Ve) T1 515 g ahifrg —

(B) 0.8 10 0.85 lagging

5;’ (©)031w005 lagging
(D) 0.75 to 0.85 leading &M_-‘F_%—_‘
" e 8

A
e Afeey aefm @ TR Baew 9 -
$ A g @ ST ) (A) 20V
(A) gpa - e
(B) 0.8 I 0.85 TTEITH . (8) 30V
(€) 0.3 0.5 weeTH E (€ 10V
(D) 0.75 | 0.85 Ty (D) 5V
82. Seam welding is normally not recommended 85. A cun‘emhnf Il mA is ﬂowing in conductor
for - than number of electrons passing through per  §
{A) Copper & high copper alloys seconds in conductor is - i
(B} Aluminium alloys (A) 6.25 % 105 v
(C) Stainless and coated steels (B) 1.6 x 10 i
(D) Alloys of nickle and magnesium ©) 1.6 x 10 .:
AR W AW ARET B Rypifver a8 5 (Pre2s x 1’ :
g o o . Il.l
(A) dfen 3R = dfar Mg g Ire® A 1 mA B gR1 98 6 2| R =es
(B) yegiifas fas : § ofy TBve § oRe arel goEEHl o e
(C) worg 3R ofta wiew w1 BT?
(D) Awer aik -Nrgs & fay (A) 6.25 x 10'3
83. Gamma is the ratio of - (B) 1.6 x 106
(A) collector current to base current (©) 1.6 %10 !
(B) base current to collect(?r current (D) 6.25 x 10"
(C) collector current to emitter current - _ o
(D) emitter current to base current - - As compared to a 2-wire DC distributor, 9-3
wire distributor with same maximum voltage

to earth use only -

(A) 31.25% of Copper
(B) 66.79 of Copper

(C) 33.3% of Copper
(D) 125% of Copper

MHI......... HT U Bl 2|

(A) GaTES 1”1 3R AR &R

(B) 3METR IRT 3N FUTED SR

(C) TuTE® UrRT 3R SoaSD e

(D) I=ufes URT 3R ER RT
84. The figure shown is a branch of an electric

current, where current is moving from A to B. SN - —" . tl‘ai-ﬂ ——
Find the value (Va-VB) - APVl iyt e ol
24 50 1°|" A N IYAWT el & —
A U ey 8 (A) T 1 31.25%
(A) 20V (B) T @1 66.7% "
(B) 30V (C) aia &1 33.3%
(D) iy &7 125% -

(C) 10V r
(D) 5V
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5

2 rhe .magrlcllc p”lvm”
ertaitt mductor "3“-?1‘
iductor iy g,

“Nurgy stored In a
“hen the current in

A
his ipdutor is of

the !
jnduction -
(A] |3R.88S H
(B) 13.89 H-
(c).138 H
(D) 1.389 H

gl 25 mJ & mﬁﬁa gae Rerfers
gRT 60 mA & &y !}??r,q, * ugfeg @9 areh
{A) 13888 H Nipe @l 87
(B) I3.89 H .
(C)0.138 H
(D) 1 380 H
88. During electric gre welding . - ‘
the metal to be welded n £ 4% the thickness of
(A) current and voltage b
(B) current s '
unchanged
(C) voltage is increse
sathe Creased keeping current the

L‘rﬂascg -
incre Oth are reduced
cas
ased keeping voltage

(A) BT 3R A1 ) gy &

(B) arecw ﬁwmﬁ@w@gm
iG-S '

(C)Wﬁmﬂwﬁgqmmmm

2

(D) ®¥e AR A T 98 o &
89. What will be the effect on the capacitance of

the capacitor when the area of the parallel

plate capacitor is reduced?

(A) It will increase

(B) It will increase initially and then decrease

(C) It will decrease

(D) There will be no effect
GnRE @1 efiar G @ WA UGS o
garaR @e wuiRa P aawd FW 8 S

(A) 718 g S

(B)uggﬁﬁ@?’ﬁﬁma—ejﬁ

- e . e
= .h.;_w,mgr___ﬁ.‘_ -

P ]
]
f pol
80. o, ‘ROC
What hoyld be the height of !¢

(A) Legy than Sm
B) | . i
@ More thun 10m
(D:u Mnre lhu.n im

"

(A) sm 3
®) 3m 3 o @
©) 1o, A worEy
{D] 3[]] ‘H T
91? Pniﬂl - ent. Magnclic
Oul the wrong statem machines

leakage g undesirable in electric
because iy .

) Lowery their power efficiency
®) uces fringing

© Leads 1o their increased weight
(O) Tnereases their cost of manufacture

T Do 3 g ¥ e oA § AP
R s @ aiffes 7w —
(A T2 ofy qeren o) @m @ B
(B) fbfamer et apeerr @ o~
(C) 378 & gy qom o0 air Star & 7
(D) 3+1a Ffor @t e weTq -
92. As compared 1o a bipolar transistor, a JFET
is -
(A} More sensitive changes in input voltage -
(B) Less sensitive changes in input voltage
{C) Highly sensitive to changes in input
voltage
(D) Equally sensitive to changes in input
voltage

qrguier gifteR @ I F T JFET ®
{A)Wmﬁﬁﬁmﬁmﬁaqﬁqﬁq
(B)wmﬁmwmﬁq

(€) g dA § RE B ufy sreafire

e _
() gage A A TR B ufy Ty g
awed

(C) g we A -

() ag goqra A M

Page 1701 24

.


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

93. In common emitter confi

guration, fj . .
i:;t';lécctor (Ic) saturation if Iy = 2mA t;“iﬁd:he 9. Armature reaction depends on which of ty,
200 - =

following?
(A) 0.8 mA (A) Magnitude of load current
(B) 0.4inA (B) power factor of load
(€) 0.91mA %J (C) Both (A) & (B)
(D) 0.6mA = (D) None of the above

W Seevi frear ¥ v e vt e fafE Prefiae 8 @ e W Bk
URT ST BT 3R Is = 2mA 8 Boc = 200 |5 e 27

- - (A) TS N1 H JHR
(M) 0.8'mA - (B) wifd| TG (s ®)
(B) 0.4mA (C) 2 (A) #R (B) TR~
(€) 0.9mA

_ (D) Y AE
(D) 0.6mA 97. A Norton circuit with 10 A current source and

84. Two sinusoidal emf are given as — 15 Q resistance is connected ACROSS &

e, = A sin(mt 4 "/4) N resistance of 5 Q. The current in 5 Q

e, = Bsin{wt — Te) resistance will be -

The phase difference between two quantities [~ = (A)TS A~

in degree is — (B) 10 A

(A) 105° : K C)25A

(B) 75°7 (D)5 A

C o
 o° | Y A $$§n
H1d4 5Q@® AR Sgs

a<E Ui W ? — Qs 5 0

a’rwﬁﬁiﬂfﬂﬁf 25 QuRRy & ur @ g

e, = Asin(wt+ /4) s A

e, = Bsin(wt— T/e) h

_ / > . (B) 10 A
Sue fd ma qFL AV @@= F ee R o
fara=n 27 N

D5 A
(A) 105° E 988." When a pure inductive load is connected to the
(B) 75° alternator, what is the effect of armature
(€) 60° g reaction?
(D) ]50 . {A) Cross Magnelizalion
L H 1 53 T, =P b Cl'lt
95. Inan AC c]-rF;llt‘( :;f: _?(Ii[)dg‘:n‘; [hi‘:l :-hi ;c\trive ‘;;_ (B} Demagnetization
agi'zrfi':?;ilvlzn t:y - ~— {C) Magnetization
(F;l} ac + ad (D) None of the above
(B) bc - ad - & St
(C) bc + ad wq 98 JHATHD AR u;am{iiam{
(D) ac + bd i Ve (a s o) A ST &, T rR R o K
7@ AC TRe A afpa v &0 i |
a&J‘R’lI:(C-&jd}Ampam (h)mmmw y
L (B) fagaa ™
o e (©) ArrergaT (TR
(B) be - ad o
{C) bc + ad ( /
e

(D)ac-rbd"—_/‘
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v

99. What is the Fatj i

) 1y Gf
3,pccd of 2{)(_' kv ‘\ F}")--Inad il 2
ynch - Al s speed o full load 102, - . o
1 Teus motgr  Poles. 2200V 36, 60 e trr]-:m.ﬁlff‘:ﬂii O AR oy e
(B) Infinite :‘;;' 'i"lluc.'lrun,
(€) 1.21 oles
€} Trivale
(D) 1.1 alent Aroms
(D) Pentavalent Atoms
NPN =i -
ZOOR:Q'Ing]eQQZOU-ﬂ’!R’ 3¢9, 60 Hz TN e % g s e e
: )
g wie K (A) sermgis ~
z; T‘j‘:ﬂﬁ gy e i g d " Sg‘c:;ﬁw
: b (©) P
b PPt
i -
D 11 « 108 {WA';lich of the following is not true for JFET?
100" Those material are el suiiisd g iaking bGi::;(?ource P-n Juction is always reverse
- '~ ™
permanent magnets ;. have «...o.ooeeins t‘:g (B) Gate-source p-n Juction is always forward
retentivityand ., :::;;vit g:} biased
(A) high, Tow e ¥ E; (€) Dhrain c]urrftntis controlled by changing the
(B) high. hi channel width
©) k:i hi;gflh :t (o) QFET is a voltage controlled three terminal
s P L evice
(D) low, low
Frafafea % ¥ &% IFET & forg w& =&
&MWWmémmwg Y
; - A i -n S BN Rad
W g & R e e sk Y ( Jg;?ﬁ P YIS
e IR B & (B) T~ p-n ST TN BRAS TTIwS
(A) 35a, ®H » 5 gar &
- 5
(B) =g, I=g ot (C) ¥7w a%"rﬁm'nﬂmé_ tr?r;'c:aaﬁr $ FE B
[
C) 9, I= ik ek '8
K (D) JFET & dew fafa &=
(D) &%, &9 E;l feargq & .
101. In an electric arc welding, the voltage required E:] 104. How many earth connection are required for
to strike an AC arc is about - M the motor frame as per the IE rule 617
A -60V o (A) One
L3500 <t (B) Two separate and distinct
(B) 230 V 4 (C) Three separate and distinct
C)ioo-120V (D) All of these
(D) 80-90V
- [E e 613 JTHR Hev ;‘m & fog fees
o H AC 99 oY JER AT 7
v feg w9 afesT 4. P o aref G B
oY B U anaedd dleed © (A) T : @
(A) 50 - 60 V CEECELS
50 - 60 Al AT
(B) 230 v (€) i 3
©100-120V ~ (D) SR

~ O80-90V I oS
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105. n- 1
P-n transistors are preferre
tra nsislors because mcyp;ii‘:en:md
{g} h_lgh mobility of holes
(B) high;t_' mobility of elect
mobility of holes in p-n e
(g) low mobility of holes
(D) equal to mobility of holeg
n-p-n ST ) ETI%W.
! p-n-p
a;r%s T T A oy 20
(BJ Bl o) g et o FHToT
(8) p-n-p SRR & fygy 3

over P"rl‘P

than the
“P transisigrs

@ e A

the length (}f th 2 .
5 : L the solenoid is doubled
Without any change in the number of turnlslc and

?}Le? of the coil. Then its self-inductance will

(A) Doubled

(B) Half times

{C) Unchanged

(D)} Nine times

Ezr gATal ;ﬂ %@H IR w3 & &= § A
CELIC] HIAAES &) oieg gt &

Sl 2 1 SEPT WURPE s

BT |

(A) < :
(B) 3mem 1 : ﬂ
(C) smfafda
(D) FY AT
107" Consider the following two statements -
1. Kirchhoff's junction law follows from
conservation of charge.

2. Kirchhoff's loop law follows from
conservative nature of electric field.

(A) Both 1 and 2 are wrong
(B) 1 is correct but 2 is wrong-
(C) Both | and 2 are correcl
(D) 2 is correct but 1 is wrong
frafrRag <1 ddl w faER FN —
| fevdrs @1 o R aa B
GequT ¥ T € | ,
.3 %?ﬂ?tﬁﬂif@ﬁaqﬁgﬁmﬁm
ygfd & Al £ |
(A) | 3% 2 Y Terd €
©8) | @ & Afpa 2 T B
() | aiv 2 a1 Wl B
(D) 2 wé & b 1@3

v’

7 20y changing transf.
" :;;tul;lﬁjt’i: nI:’- & transtormer, the lappings age
(A) Primary winding
{B) gecondaiy winding
(C) High voltage winding
(D) Any of he above

T @9 T CTAwHT 2R geE @ o

&
(A) wrgmd ¥
(B) g@sY Tigfen
(©) &g AT aEigy -
(D) Iu¥IEd H | H1E
109. The usual spans with RCC poles are —
(A) 300 - 5U0m
(B) 80— 100 m
(C) 60— 100 m
(D} 40 - 50.n
FRAEL i B AR GE AR
il
(A) 300 - 500 m
(B) 80 - 100'm ~
(C) 60 - 100 m
(D) 40 - 50m
110# In ACSR conductors, the insulation between
aluminium and steel conductors is -
(A) Varnish
(B) Bitumen
(C) No insulation is required
(D) Insulin
ACSR #saer #, vapifrm R w4
Feqed & 4 TYALTH & —
(AY arfer <
(B) fagH
(C) T SgoITA B ITawdDal AE 2
(D) ggfer
111. The potential to which a conductor is raised,
depends on -
(A) The amount of charge
(B) Geomelry and size of the conductor
(C) Both (A) and (B) -
{D) None of the above
a8 fawa wEl ad drerh @ Sor S R

(A) e @ W IR
(B) arc @ waiafd 3R HBR
() (A) 3 (B) &l

(0 g @ B T

I
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12 What does secnon 1y et
Bt
(A} IP'enaliy tor g ticia
l.l‘\l\ h‘l ; 0 eI
wasting cncy
(B) Thett of energy 3 =
(€ Penalty for interferenee With meters
L F . gy .
(D) Penalty for allegal lransnussion or use of
CrHCrRY

SRT 44 B e e &7
(A) I ®Y9 A Fwl gate @ @ B
43

(B) &t @1 o

(C) Mew & wrr gwiEy & 3 auin

(D) 3@y HaRwr W Sl & Sua @ B gs
113. In a resistor. the first three bands from left to

right have colours Yellow, Purple and Red

then. what will be the value of resistor in ohm?

(A) 540

(B) 4700

(C) 52000

(D) 6700

dran, R, o 7 €, dY 3 A giRs &
qT4 FAT EN?
(A) 540
(B) 4700~
(C) 52000
(D) 6700

114. Which of the following is a type of fusion
welding?
(A) Forge Welding
(B) Friction Welding
(C) Ultra Sonic Welding
(D) Carbon Arc Welding~

Wﬁ § g P m Wéﬁ’@"‘f (fusion
welding) @1 U TP ??.
(A) st dfesT

(B) vy afesT

115,

(C) guisren afesT
(D) ands P afesT

Iy

24 ma

: e
por 190 th

Hl"'
The Th“-tmn voltage & the e g
et und s

2IVen  cireyig is
Tespectively

W 2057 v:21 ko
B a32v.2 k0. @
©257v. 2057k
®) 432 v, 2057 k0
1k
4 v
24 ma Qb , 6k 3k -

R ¢ afwer % o A st wfeR
(A) 20.57 v 21 kQ

B)432V;2.1kQ

(C) 2.57 V; 20.57 kQ

(D) 432 v; 2057 kQ

116. A [OmH inductor carries a sinusoidal current
of 1A at a frequency of 50Hz. The average

power dissipated by the inductor is -
(A) 1.OW

(B) 0.5W

(C) 0.25W

D) oW

frdl 10mH TSN H IR 1A Ay
g1 50Hz G TR TE T R A 90 qrecty
& e ara giY?
(A) 1.0W
(B) 0.5W
© T (C) 0.25W

(D) OW - B
,_.——-—"’_'--’f_—-_-_ ‘__-_h__-_“"‘—‘-——._.,__

I £
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117. What is this drawn circuit called?

Poi o

(A) Clipper

(B) Positive clipper -

(C) Negative clipper E
(D) Clamper

R T g wfbe w wwem &
R
v, R v !_(:j
(A) fFer=

(B) ¥9 faeaw
(C) = s faeux
(D) TR

AAA
TERY
=]

118. The frequency of voltage generated by an

alternator having 8 poles & rotating at 250
rpm is -

(A) 60 Hz
(B) 50 Hz

© 1621z

(D) 25 Hz

@ 8 Ol reeeR St 250 pm TS R T
&1 & A oFRes areda @ gy @ arfi?

(A) 60 Hz

(B) 50 Hz [,16‘
©) 162Hz ~ \'}S ;
3 125
(D) 25 Hz
2l "'{ |a.151._..--r_.-.

119. The poWwer factor of ap ordinary elecr;, b
is - |
(A) slightly more than unity
(B) unity
(C) zero
(D) slightly less than unity
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120. The knowledge of diversity factor helps in
determining -
(A) peak load
(B) plant capacity
{C) average load
(D) kWh generated
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